CECS 572 Advanced Computer Networking

Assignment 3
To be completed by Wednesday, September 24, 2014
(Solutions will be available via BeachBoard)


Answer the following questions from Kurose and Ross, Chapter 2:

A. [image: image1.png]R.7. Referring to Figure 2.4, we see that none of the applications listed in Figure
2.4 requires both no data loss and timing. Can you conceive of an application
that requires no data loss and that is also highly time-sensitive?



Chapter 2 Review Questions
[image: image2.png]R.5. What information is used by a process running on one host to identify a
process running on another host?




[image: image3.png]R.9. Recall that TCP can be enhanced with SSL to provide process-to-process
security services, including encryption. Does SSL operate at the transport
layer or the application layer? If the application developer wants TCP to be
enhanced with SSL, what does the developer have to do?




[image: image4.png]R.10. What is meant by a handshaking protocol?




[image: image5.png]R.13. Describe how Web caching can reduce the delay in receiving a requested
object. Will Web caching reduce the delay for all objects requested by a user
or for only some of the objects? Why?




[image: image6.png]R.15. Why is it said that FTP sends control information “out-of-band”?




[image: image7.png]R.22. What is an overlay network? Does it include routers? What are the edges in
the overlay network? How is the query-flooding overlay network created and
maintained?




[image: image8.png]R.27. The UDP server described in Section 2.8 needed only one socket, whereas the
TCP server described in Section 2.7 needed two sockets. Why? If the TCP
server were to support n simultaneous connections, each from a different
client host, how many sockets would the TCP server need?
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